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2 603,558 64,000 539,558
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2 11,952,857 9,274,023 2,678,834
HUX oA 2 22 HA 93,672 22,400 71,272
2 49,056 0 49,056
2 44,616 22,400 22,216
ol A Xl 22 63,672 2,400 61,272
2 49,056 0 49,056
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Xt & E2E2HE 2,352 2,400 A48
201 LBt 2,352 2,400 A48
01 AF2 22| H 2,352 2,400 A48
Olget=2H| 2,352 2,400 A48
OXEEH AEIH HEE(20AEZ)
AX 2769 * 1,00000 * 2= 552 600 A48
NAEE S2INAANE HLAAS 61,320 0 61,320
2 49,056 0 49,056
=2 12,264 0 12,264
403 XSRS X201 S 61,320 0 61,320
2 49,056 0 49,056
2 12,264 0 12,264
02 ZIIZSOHCHEHHE AL HI 61,320 0 61,320
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2 49,056 0 49,056
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MHX N2 30,000 20,000 10,000
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402 DI2H K201 & 30,000 20,000 10,000
01 DI EEX 30,000 20,000 10,000
OF eS8 BYD LHAL 23
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AA R E 1,977,942 1,736,406 241,536
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201 L2 1,441 1,470 A 29
01 At 22l H 1,441 1,470 A29
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301 gELE A= 2,940 3,000 A60
12IIEtE2 4= 2,940 3,000 A 60
OSIHEDHYL MPYIIZE X (LT
Z) Z & 1,000& = 2,94004 2,940 3,000 A 60
NS FHEd =t 55,955 56,840 A 885
XS FH2el 55,955 56,840 A 885
201 fet23E | 43,355 44,240 A 885
01 At 22l bl 43,355 44,240 A 885
Olget=&tl] 43,355 44,240 885
OYAANZLBEH B2 BUICS HI(20)a
2Y) 2 & 65,5008 ~ 18] ~ 100HSH 655 1,540 885
M A AIE SHUEALS 1,334,180 1,294,950 39,230
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401 AIEBI L 2CHEI 30,000 0 30,000
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OLYSLAT HIIPAL &3
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201 £et23E | 12,180 12,950 ATT0
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=) 32,000 8,250 23,750
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OUEZHHAW S22 ZHI(ZTUEN) (=
Ol AHE2)) 28,500,000 * 14! 28,500 30,000 A 1,500
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402 D12 X201 & 200,000 40,000 160,000
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